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Q.1. Who was the Roman Emperor that began to dream of conquering India?

(a) Trajan (b) Julius Caesar (c) Augustus (d) Tiberius

वह रोमन सम्राट कौन था ,जिसने भारत को जीतने का स्वप्न देखना शरुू किया था ?

(अ) त्राजान (ब) जलूियस सीज़र (स) ऑगस्टस (द) टिबेरियस

Answer-(a) Trajan(अ) त्राजान

Feedback-In 116CE Trajan’s marched down the Euphrates to Ctesiphon, the Parthian capital,
and then to the head of the Persian Gulf.

Q.2. The Roman silver coin, known as denarius, weighed----------------gm of pure silver.

(a) 2.5 (b) 3.5 (c ) 4.5 (d) 5.5

रोमन चांदी का सिक्का, जिसे दीनारियस के नाम से जाना जाता है,का वजन ----शदु्ध चांदी ग्राम होता

था I

(अ) 2.5 (ब)3.5 (स) 4.5 (द) 5.5

Answer-(c ) 4.5

Feedback- The Roman silver coin, known as denarius, weighed 4.5 gm of pure silver.

Q.3. In the Roman urban life, the entertainment shows called “Spectacula” happened for at
least-

(a) 150 days (b) 160 days (c) 167 days (d) 176 days

रोमन शहरी जीवन में “स्पेक्टाकुला” नामक मनोरंजन कार्यक्रम कम से कम इतने दिन होते थे-



(अ) 150 दिन (ब) 160 दिन (स) 167 दिन (द) 176 दिन

Answer-(d) 176 days(176 दिन)

Feedback-In Roman Empire urban population enjoyed a much higher level of entertainment.

Q.4. Greek and ----------languages were used in administration of the Roman Empire.

(a) Mayan (b) Chinese (c ) Latin (d) English

रोमन साम्राज्य के प्रशासन में ग्रीक और ----------भाषाओँ का प्रयोग किया जाता थाI

(अ) माया (ब) चीनी (स) लटैिन (द) अगें्रजी

Answer-(c ) Latin लटैिन

Feedback-Many languages were spoken in the empire, but for the purposes of administration
Latin and Greek were the most widely used.

Q.5. The Emperor who made Christianity the official religion in the Roman Empire was?

(a) Alexander (b) Augustus (c) Constantine (d) Nero

रोमन साम्राज्य में ईसाई धर्म को अधिकारिक धर्म बनाने वाला सम्राट कौन था?

(अ) अलेक्जेंडर (ब) ऑगस्टस (स) कांस्टेंटाइन (द) नीरो

Answer- (c) Constantine कांस्टेंटाइन

Feedback-Polytheist had no common name or label to describe them. Thus Christianization of
the Empire in the 4th and 5th centuries was a gradual and complex process.

Q.6. Match the following and choose the correct option.

List I List II-

A. Augustus 1.The First Emperor

B. Dressel-20 2. Mapalia

C. Oven shaped huts 3. Container



D. Saint Augustine 4. A Bishop of Hippo

option: A B C D

(a) 1 3 2 4

(b) 1 2 3 4

(c ) 2 3 4 1

(d) 4 3 2 1

स्तभं I का मिलान स्तभं II से कीजिए और सही विकल्प का चयन कीजिए :

स्तभं I स्तभं II

A ऑगस्टस 1.प्रथम सम्राट

B.ड्रसे्सेल-20 2.मपैालिया

C.अवन आकार की झोपडिया 3.कन्टेनर

D.सेंट ऑगस्टीन 4.हिप्पो के बिशप

विकल्प : A B C D

(अ) 1 3 2 4

(ब) 1 2 3 4

(स ) 2 3 4 1

(द) 4 3 2 1

Answer-(a) 1 3 2 4

Feedback-. The regime established by Augustus, The First Emperor, in 27BCE was called the
“Principate”.

Dressel-20 was a Container used for carrying Spanish Olive oil.

C. The Pastoral and semi pastoral communities carrying their Oven shaped huts called
“Mapalia” in Numidia.



D. Saint Augustine was a Bishop of North African city of Hippo.

Q.7. Considerer the following events:

1. Republic was overthrown by Octovian.

2. Tiberius, the second in the long line of Roman Emperor.

3. Creation of a second capital at Constantinople.

4. Justinian recaptured Africa from the Vandals.

The correct chronological order of these events is:

(a) 1,2,3,4 (b) 2,3,4,1 (c) 4,3,2,1 (d) 3,4,2,1

निम्न घटनाओं पर विचार कीजिए –

1.ऑक्टोवियन द्वारा गणततं्र को उखाड़ फें का गया I

2. टिबेरियस, रोमन सम्राटों की लम्बी कतार में दसूरा I

3. कांस्टेंटिनोपल में दसूरी राजधानी का निर्माण I

4.जस्टिनियन ने अफ्रीका को वनै्डल्स से पनु: प्राप्त किया I

Answer-(a) 1,2,3,4 1.

Feedback- 1.Republic was overthrown by Octavian in 27 BCE

2. Tiberius, the second in the long line of Roman Emperor ruled from 14 to 37 CE.

3. Creation of a second capital at Constantinople in 324CE.

4. Justinian recaptured Africa from the Vandals in 533CE.

Q.8. Considerer the following statements regarding the three main ‘players” in the political
history of the Roman Empire and choose the correct option:

1. The Roman had a paid professional army.

2. The success of the individual Emperors depended on their control of the army.

3. The senate not hated and feared the army.



Option:

(a) Only 1 is correct (b) Only 1 and 2 are correct (c) Only 3 and 2 are correct (d) All are correct

रोमन साम्राज्य के राजनीतिक इतिहास में तीन मखु्य खिलाड़ियों के सम्बन्ध में निम्नलिखित

कथनों पर विचार करें और सही विकल्प चनेु I

1. रोमन के पास वेतनभोगी पेशवेर सेना थी I

2 . व्यक्तिगत सम्राटों की सफलता सेना पर उनके नियंत्रण पर निर्भर करती थी I

3. सीनेट सेना से नफरत नहीं करती थी और न ही उससे डरती थी I

विकल्प :

(अ) केवल 1 सही है (ब) केवल 1 और 2 सही है (स) केवल 3 और 2 सही है (द) सभी सही

है

Answer-(b) Only 1 and 2 are correct (ब) केवल 1 और 2 सही है

Feedback-The Roman army was the largest single organised body in the Empire, nearly
600,000 by the 4th century and it certainly had the power to determine the fate of the
Emperors.

Q.9. Identify the picture from the given options:

(a) Colossal statue of Emperor Constantine (b) Colossal statue of Emperor Diocletion ( c )
Colossal statue of Emperor Augustus (d) Colossal statue of Emperor Tiberius



दिए गए विकल्पों में से चित्र को पहचानें I

अ. सम्राट कॉन्सटेनटाइन की विशाल मरू्ति I

ब. सम्राट डायोक्लिशियन की विशाल मरू्ति I

स. सम्राट ऑगस्टस की विशाल मरू्ति द. सम्राट टिबेरियस की विशाल मरू्ति I

Answer-(a) Colossal statue of Emperor Constantine. सम्राट कॉन्सटेनटाइन की विशाल मरू्ति I

Feedback-Constantine ruled from 312-324CE.

Q.10.There are two statements marked as Assertion (A) and Reason (R), mark your
answer as per the codes given below.

Assertion (A) The Senate hated and feared the army in the Roman Empire.

Reason(R) Army was the source of unpredictable violence.

a. Both A and R are the correct and R is the correct explanation of A.

b. Both A and R are the correct and R is not the correct explanation of A.

c. A is incorrect but R is correct.

d. R is incorrect but A is correct.

10.यहाँ दो कथनों को अभिकथन (A) और कारण (R) के रूप में चिन्ह्हित किया गया हैं ,नीचे

दिए गए कोड के अनसुार अपना उत्तर चिन्ह्हित करें I

अभिकथन (A) सीनेट रोमन साम्राज्य में सेना से नफरत करती थी और उससे डरती थी I

कारण (R) सेना अप्रत्याशित हिसंा का स्रोत थी I

अ. A और R दोनों सही हैं और R, A की सही व्याख्या हैं I



ब. A और R दोनों सही हैं और R, A की सही व्याख्या नहीं हैं I

स. A गलत हैं लेकिन R सही हैं I

द. R गलत हैं लेकिन A सही हैं I

Answer-(a) Both A and R are the correct and R is the correct explanation of A. A

और R दोनों सही हैं और R, A की सही व्याख्या हैं I

Feedback- The Roman army was the largest single organised body in the Empire,
nearly 600,000 by the 4th century and it certainly had the power to determine the fate of
the Emperors.


